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Directions: Convert each complex number to the form r(cos(6) + i sin(8))
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Challenge Problems
Directions: These are optional bonus problems you may attempt if you desire.

C1) Suppose you have the function z = t(cost + i sin t). What would this function look like on
the complex plane as zgoes to infinity? What if #goes to negative infinity? Do these two
graphs (as 7goes to positive or negative infinity) intersect, and if so, where?

Hint: t is a purely real variable. Feel free to use the back of the worksheet to draw a graph.



